Sections 6.5–6.6 (Even Answers, Mostly!)
Section 6.5 Class Exercises
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Section 6.5 Practice Exercises

2. 
[image: image10.wmf]11

66

,

pp

  4. 
[image: image11.wmf]2

33

,

pp

  6. 
[image: image12.wmf]3

44

,

pp

  8. 
[image: image13.wmf]7

66

,

pp

  10. 
[image: image14.wmf]3

2

p

  12. no solution  14. 0  16. 
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  18. 61.3o  

20. Consider x2 = 3x vs x = 3. The two equations are NOT equivalent (truth sets are not the same). 

Divison by ‘x’ is not allowed in the case that x = 0, so we lost a root of the 1st equation. So in this particular case, cos(x) = 0 yields solutions: 
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 besides cot(x) = 1 with 
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.
The point is to FACTOR as in: x2 – 3x = x (x – 3) = 0 and here: cos(x) (cot x – 1) = 0.
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 is coterminal with 0  28. .37, 1.42, 2.46, 3.51, 4.56, 5.61
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  54. no solution  55. 
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Challenge 6.5
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Section 6.6 Class Exercises
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  8. .46, 2.03, 3.60, 5.17  9. 2.24, 4.05  10. 3,81, 5.62  
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Section 6.6 Practice Exercises
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  32. Let 
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 represent the birth (growth) rate and 
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 represent the death rate. Then the difference function, 
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, represents the net growth. If 
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> 0, then the species is increasing. If 
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< 0, then the population is decreasing.  34. 978.0301 cm/s2  36. 980.2833 cm/s2 
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40. no solution 42. 
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 46. .92, 1.45, 2.26, 2.79, 4.07, 4.59, 5.4, 5.93 
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 is “a quadratic in sine of x”. Then y = csc(x) + .001 just misses at x = 
[image: image72.wmf]2

p

.

Test Yourself 6.6
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Chapter 6 Summary and Review

2. 
[image: image78.wmf]23

-+

  4. -4/5  6. yes  8. 
[image: image79.wmf]336

625

-

  10. 
[image: image80.wmf]1

sin

1

sin

1cos

2sin

tancsccot

b

b

bb

b

bb

-

=×=-

 

12. 
[image: image81.wmf]sin180sin30

°-°

  14. 
[image: image82.wmf]2sin4.55sin3.05

-

  16. 
[image: image83.wmf]5

66

,

pp

  18. 4.27, 5.15

Chapter 6 Test
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Chapter 6 Cumulative Review

1. 30,804 km  2. 
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  7. 2, imaginary  8. 18o 

9. The acute angle measured from a horizontal line up to the line of sight. 

10. 13.7 ft  11. cos 4x + cos 6x  12. 
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  13. yes  14. -1 to 1  15. 
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 18. hypotenuse length  19. 460.28 rpm  20. -24/25 

21. altitude  22. vertex  23 1.25, 1.74, 4.39, 4.88

Notice how the y = -4sin(x) + 1 curve has a smaller amplitude and just hits the y = 3cos(2x) at a low point on the left. 
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